EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / NOIDA / BAM-NONCOLLEGIATE / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of BAM - NONCOLLEGIATE Semester held in the month of NOV-2017

	SESSION : 2	2016-2017 CLASS : BAM		BRAN	СН : С	COMPUTER	R SCIENC	Е				SE	MEST	ER / TI	RIMES	TER :	NO:	NCOLI	EGIAT	E	MONTH OF E	XAM :	NOV-2017
	ROLL NO	NAME	U L	BAM GR.	203(4) -	MSH11	PT.	GR.	PT.	- GR.	PT.	GR.	PT.	CP.	рт	GR.	PT.	GR.	- -	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
IL				GK.	P1.	GR.	P1.	GK.	P1.	GK.	P1.	GK.	P1.	GR.	P1.	GK.	PI.	GK.	P1.		ļ		
	BAM/4540/12	WUNGRAMRIN RAMSHAM	U	С	20.0	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	20.0	7.0	2.86	_
	D/11/1/4540/12	WONGIGHAMIAN ICHWISHAM	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	,.0	2.80	

BAM203(4) MSH1149(3)	: AUDIO - VIDEO TOOLS & TECHNOLOGY : INTELLECTUAL PROPERTY RIGHTS	- -	:	
-		-	; ;	(tan/degr.
-		-	:	
-	:	-	:	Controller of Examinations
-		-		Control of Examinations

Disclaimer

Disclaimer : Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card.

Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / NOIDA / BAM-NONCOLLEGIATE / (NC/17) 2016-2017

By the order of Examination committee, the following is the result of BAM - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION :	2016-2017 CLASS : BAM		BRAN	ICH : (COMPUT	ER SCIE	NCE				SEM	ESTER	R / TRI	MEST	ER :	NON	COLLE	GIATE		MONTH OF EX	KAM : 1	NOV-2017
ROLL NO	NAME	U L	BAM	311(4)	BAM2	203(4)	MSH1	149(3)	-		-		-		-				TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ш	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BAM/4520/13	YASH KUMAR	U	С	20.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	_
D/ 1141/ 4320/13	THOI KOWAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	5.00	

BAM311(4) BAM203(4) MSH1149(3)	: FILM PRODUCTION BASICS : AUDIO VIDEO TOOLS & TECHNOLOGY : INTELLECTUAL PROPERTY RIGHT	- -	:
-	:	-	:
-	:	-	:
-		-	:
-	:	-	:
-		-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / NOIDA / BBA-NONCOLLEGIATE / (NC/17) / 2016-2017

By the order of Examination committee, the following is the result of BBA - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION	: 2016-2017 CLASS : BBA		I	BRANCI	H : M.	ANAGE	MENT				SEM	ESTER /	TRIME	STER :	NON	COLLEG	ATE		MONT	TH OF EXAM	1 : NC	OV-2017
ROLL NO	NAME	U	BBA10	· /	BBA10	. ,		2001(3)		2003(3)	BBA	2005(3)	BBA2	2009(3)	BBA4	005(3)	BBA5	013(3)	TOTAL CREDIT	TOTAL	SGPA	REMARKS
KOLL NO	IVAIVIE	L	GR.	PT.	BBA6 GR.		GR.	6021(3) PT.	GR.	001(3) PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	POINTS	CREDITS	BOIA	REWITTERS
BBA/4508/14	VENKATA SURYA SHIV SAGAR	U	F	0.0	F	0.0	С	15.0	F	0.0	-	-	-	-	-	-	-	-	15.0	12.0	1.25	_
BBA/4300/14	VENKATA SOKTA SHIV SAGAK	L	-	-	-	-	-	-	-	-	-	-		-		-	-	-	15.0	12.0	1.23	
BBA/4516/14	KAUSHLENDRA	U	-	-	-	-	-	-	-	-	-	-		-		-	-	-	15.0	3.0	5.00	_
BB11/1310/11	R TOSTIELI (BRIT	L	-	-	-	-	-	-	C	15.0	-	-	-	-	-	-	-	-	15.0	3.0	3.00	
RBA/4532/13	CHETANYA SHARMA	U	-	-	-	-	С	15.0	F	0.0	-	-	С	15.0	С	15.0	F	0.0	60.0	27.0	2.22	_
BB/1/4332/13	CHETAIVIA SHARWA	L	F	0.0	F	0.0	F	0.0	C	15.0	-	-	-	-	-	-	-	-	00.0	27.0	2.22	
RBA/4543/14	ASHIMA JAIN	U	-	-	-	-	-	-	С	15.0	-	-	-	-	-	-	-	-	15.0	3.0	5.00	_
BB/1/4343/14	ASTRIVITY STATE	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	13.0	3.0	3.00	
BBA/4545/14	SHIVAM SHARMA	U	-	-	-	-	-	-	-	-	С	15.0		-		-	-	-	15.0	3.0	5.00	_
BBA/7373/14	JIII VAIN DIIAKWA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	15.0	3.0	3.00	
RBA/4549/13	ASHUTOSH KUMAR	U	F	0.0	-	-	-	-	-	-	-	-	-	-	С	15.0	-	-	30.0	9.0	3.33	_
BBA/+349/13	ASHO I OSH KUMAK	L	-	-	-	-	-	-	С	15.0	-	-	-	-	-	-	-	-	30.0	7.0	3.33	

BBA1003(3)	: BUSINESS STATISTICS	BBA6005(3)	: INTERNATIONAL MARKETING
BBA1009(3)	: FUNDAMENTALS OF COMPUTING	BBA6019(3)	: INDUSTRIAL RELATION
BBA2001(3)	: ORGANIZATIONAL BEHAVIOR	BBA6021(3)	: TRAINING AND DEVELOPMENT
BBA2003(3)	: QUANTITATIVE TECHNIQUES IN MANAGEMENT	HU4001(3)	: FOREIGN LANGUAGE (FRENCH)
BBA2005(3)	: BASICS OF FINANCIAL MANAGEMENT	-	:
BBA2009(3)	: BUSINESS COMMUNICATION II	-	:
BBA4005(3)	: FUNDAMENTALS OF OPERATIONS RESEARCH	-	:
BBA5013(3)	: HOSPITALITY MANAGEMENT	-	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Date: DEC-2017

Reference: EXAM / JPP / BITIC / NOIDA / BBE-NONCOLLEGIATE / (NC/17) / 2016-2017

By the order of Examination committee, the following is the result of BBE - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION	: 2016-2017 CLASS : BBE		BF	ANCH	: MAN	NAGEME	NT			Sl	EMESTE	R / TRIM	IESTEI	₹ :	NONC	OLLE	GIATE		MO	ONTH OF EXA	M : N	OV-2017
ROLL NO	NAME	U L	BBE10	007(3)	BBE2	009(4)	BBE30	007(4)	BBE40	003(4)	BBE60	007(3)	-		-		-	-	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		┸	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBE/4532/13	RADARSH	U	F	0.0	F	0.0	F	0.0	F	0.0	F	0.0	-	-	-	-	-	-	00.0	18.0	0.00	
DDL/4332/13	K ADAKSII	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	00.0	10.0	0.00	_

BBE1007(3)	: BUSINESS STATISTICS - I	-	:
BBE2009(4)	: BUSINESS STATISTICS II	-	:
BBE3007(4)	: BUSINESS MATHEMATICS	=	:
BBE4003(4)	: OPERATIONS RESEARCH	-	:
BBE6007(3)	: BASIC ECONOMETRICS	-	:
-	:	-	:
-	:	-	:
_	· ·	_	

Controller of Examinations

Disclaimer

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time.

EXAMINATION DEPARTMENT

Reference: EXAM / JPP / BITIC / NOIDA / BCA-NONCOLLEGIATE / (NC/17)/ 2016-2017

By the order of Examination committee, the following is the result of BCA - NONCOLLEGIATE Semester held in the month of NOV-2017

SESSION	: 2016-2017 CLASS : BCA		BF	RANCH	: COM	IPUTER S	SCIENCE	3			Sl	EMESTE	R / TRI	MESTER	. : N	ONCOLL	EGIATE		MON	TH OF EXA	M : NO	OV-2017
		U	BCA	1001(4)	BCA1	.005(4)	BCA2	2001(4)	BCA	2003(4)	BCA	2007(4)	BCA3	3001(4)	BCA3	3007(4)	BCA40	001(4)				
ROLL NO	NAME	L	BCA4	1007(4)	BCA:	5001(4)	BCA:	5005(4)	BCA	5001(4)	BCA	5003(4)	BCA	5005(4)	BCA	5007(4)	BCA60	011(4)	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BCA/4502/13	VARUN BALI	U	-	-	-	-	-	-	-	-	-	-	С	20.0	-	-	-	-	20.0	4.0	5.00	_
BC/17-302/13	VARONBALI	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	20.0	4.0	3.00	
BCA/4504/14	ANOOP KUMAR MAURYA	U	-	-	-	-	F	0.0	-	-	-	-	_	-	-	-	-		60.0	16.0	3.75	_
Bert 130 1/11	ANTOON ROMAN MATORIA	L	С	20.0	С	20.0	-	-	-	-	_	-			С	20.0			00.0	10.0	3.73	
BCA/4516/14	SRIJAN APURVA	U	С	20.0	-	-	-	-	-	-	-	-		-	-	-	-		20.0	4.0	5.00	_
		L	-	-	-	-	-	-	<u> </u>	-	-	-		-		-	-					
BCA/4517/14	SRIJAN PAL SINGH	U	-	-	-	-	F	0.0	F	0.0	F	0.0		-		-	F	0.0	00.0	36.0	0.00	_
		L	F	0.0	F	0.0	F	0.0	-	-	-	-	F	0.0	F	0.0						
BCA/4523/14	PRATYUSH KUMAR SWAIN	U	-	-	-	-	-	-	-		-	-		-	-	-	-		20.0	4.0	5.00	_
		L	-	-	-	-	-	-	-	-	С	20.0		-	-	-	-					
BCA/4526/14	AVINASH	U	-	-	-	-	С	20.0	С	20.0	-	-	<u> </u>	-	-	-	F	0.0	60.0	16.0	3.75	-
		L	-	-	С	20.0		-	-		_	-	_	-		-	-					
BCA/4527/14	SUJOY CHAKRABORTY	U	-	-	-	-	-	-	-	-	-	-		-	С	20.0	-		20.0	4.0	5.00	-
		L	-	-	-	-			-	-						-						
BCA/4530/14	SHUBHAM SINGH RATHORE	U	F	0.0	-	-	С	20.0	-	-	-	-			-	-	F	0.0	40.0	16.0	2.50	_
		L	-	-	С	20.0	-	-		-	-	-		-	-	-						
BCA/4531/14	SHUBHAM	U	F	0.0	F	0.0	-	-	С	20.0	-	-		-	С	20.0	F	0.0	60.0	28.0	2.14	_
		L	С	20.0	F	0.0	-	-	-		-	-		-	-		-					
BCA/4544/13	PRIYARANJAN MISHRA	U	F	0.0	-	-	-	-	-	-	-	-	-	-	-	-	F	0.0	00.0	16.0	0.00	-
		L	-	-	-	-	-	-	F	0.0	-	-		-	-	-	F	0.0				

BCA1001(4)	: MATHEMATICS-I	BCA4007(4)	: COMPUTER ARCHITECTURE
BCA1005(4)	: PROGRAMMING IN C	BCA5001(4)	: PROBABILITY AND STATISTICS
BCA2001(4)	: MATHEMATICS II	BCA5005(4)	: VB. NET PROGRAMMING
BCA2003(4)	: DATA STRUCTURES	BCA6001(4)	: OPERATIONS RESEARCH
BCA2007(4)	: LOGIC DESIGN	BCA6003(4)	: FUNDAMENTALS OF COMPUTER ALGORITHMS

BCA3001(4) : DISCRETE MATHEMATICAL STRUCTURES : COMPUTER NETWORK BCA6005(4) BCA3007(4) : PROGRAMMING IN JAVA BCA6007(4) : DATA MINING & WAREHOUSING : SCIENTIFIC COMPUTING BCA6011(4) BCA4001(4) FUZZY LOGIC & APPLICATION

Controller of Examinations

Date: DEC-2017

Disclaimer

: Institute is not responsible for any inadvertent error that may have crept in the results being published on the Net. The results published on the Net are for immediate information to the examinees. This can not be treated as original grade card. Original Grade card will be issued by the institute in due time. Disclaimer